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Preventing production of defective items. It costs more to produce defective items—since
they must be scrapped or reworked—than it does to produce non-defective items. This simple
fact suggests that manufacturers should ensure the quality of their products by perfecting their
production processes instead of depending on inspection of finished products (Deming, 1986). In
order to better understand a particular metal stamping process, a manufacturer wishes to estimate
the mean length of items produced by the pro- cess during the past 24 hours.

a. How many parts should be sampled in order to estimate the population mean to within .2
millimeter (mm) with 95% confidence? Previous studies of this machine have indicated that the

standard deviation of lengths produced by the stamping operation is about 2 mm.
b. Time permits the use of a sample size no larger than 100. If a 90% confidence interval for u is
constructed with n = 100, will it be wider or narrower than would have been obtained using the

sample size determined in part a? Explaln . -g g Shaul d We uae JJ\,Q, m %A partl.
T\/M\A Lo ‘3 \owed r,ar“; ; /?

&, CT e )
50/9())) ( \ O 025 \) n
1,96

O.2>j.C‘6 = = {.46 __2;_ =’5’Y\> ’{,Qéz _.2_3— = 2%¢Y, 2
. yn 02* ~ T T

b, C:Cﬁo%(}-h = (% ?zo.os’%“)
AGHD

S 7R
—_— :L‘é[-i —_= O\ ’

6,05 \J»




